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1. Which figure completes the statement?

isto |

is to

;

7]
\/

2, Fact 1: Ravneet said, "Mehar and I both

have goats."

Fact 2: Mehar said, "I don’t have a goat."

Fact 3: Ravneet always tells the truth, but
Mehar sometimes lies.

If the three statements are facts, which of

the following statements must also be

facts? ot

I. Mehar has a goat. -

II. Ravneet has a goat.”

III. Mehar is lying, v

1. I only

2. Jand Il only

7 1,11 and III

4. Mand Il only.

L ®F-¥ s wem & g0 w42
s
R watm gl | @
e
O] |
A wafbm & L
i3
%
4, -
A

LA e T wE, AR eI R, 9 #
TR T )

T2 AR A wE, W U a2
T 3: A W9 WA Wt 8, W W
Ff-wft ge A S H
A Svgw fH FoT aeg ¥, @ Frefaten
H ¥ FR-Y FoF 7o BR R

L AR % I§ @ awi 2
II. T & 99 T T R
Il AR g3 e @ B

. &FFall

2. FEE] AR
3. L ek
4, w1l SR



3, @M &
3. Look at the pattemns in the squares antf ot e Fr fargl
" understand  their relationship 1o ol:lt1 - %”I?'I
another so as to fill in the square Wi
missing symbols.
e
I
m. | ™

» OlIOT

O1 || 1O
O ¢|| {0

Clf aj ~

4. Danish starts walking straight towards 4, AW g& H AR G ST IRT T B

East. After walking 75 m, he turns to the 75 HIR Fe & WA 9% 98 3R FHHL
left and walks 25 m straight. Again he 25 "W Wwn wear ?1 fr ow TR AR
turns to the left, walks a distance of 40 m YHEHT W 40 W =7 = T = g, :
straight, again he turns to the left and T8 qE 3R YHHT 25 T #} @ e 2
walks a distance of 25 m. g ﬁﬁ Y fred iﬁ w7

How far is he from the starting point? '

I. 30m 1. 304

= jg m 2. 357

. 40m

4. 50m 3. 40H=x

wor 4,

50 Htex




5. In the question given below, there are four
statements which are to be taken as truth
even if they do not seem to be so. There
are conclusions numbered I, II, I and IV.
Decide which of these logically follow
from the given statements.

All students who like English also like

Mathematics. Some students like Hindi.

All students who like Hindi do not like

Mathematics. Students who  like

Mathematics also like English.

I. Students who like Hindi also like
English.

II. Students who like Mathematics also
like Hindi. »

" IIL Students who like Mathematics do not

like Hindi.
[V. Students who Eke English do not like
Hindi

1. land Il

2. IandIII

3. Jand IV
7 1l and IV

6. The number in the place of ' shéuld be

)

42
58
59

68 | fw

W

LY

6.

rJ

o b

42
58
59
68

6



arafers T e
. prtr (7-9): ¥ PO
Direction (7-9) : Answer these questions = W wyHl M ;
by using the following diagram.
D> _________@_.m _
e O
®
RO | L.
O | )
A4
e g ot WE HATE( B E
Each square stands for different class. A\ s PR 2
A. represents Indians : i fFrefud 2l
B. represents Students B, faeni L 3 Frefid w2
C. represents Talented individuals o C Hﬁm"é‘lqﬁalmdl I
D. represents Players D. faenfeat &t fEfyd HT R
frat yrara faeneff €,
7. How many Indian non-player students 7.8@® 7 @aeé_;ﬂa
who are talented? EICEIMISI S
| .
N | 2 7
3. 10 3. 10
4, 12 4, 12

8. How many talented Indians are players?

1. /13
17
3. 19
4. 22

9. How many talented Indians are there, who
are students?

iy 13
2..15

3 17
%'9

7

1. 13
2. 17
3. 19
4. 22



pirection (10-11) : Study the following
diagram.

A : Representing people who read
newspaper A :

B : Representing people who read
newspaper B

C : Representing people who read
newspaper C

Based on the above information answer

the question 10-11.

10. If the number of people in B is 10 more

than A, what is the total number of people
in only B (i.e., in B but not inAorC)?"

B
. 24
3. 30
4,36

11 If sum of the number of people in only B
and the number of people common in both
A and B is 63 and the number of people in
B is twice the number of people in A, then
the values of x and y are respectively:
i, 15,4
2. 48,5

4. 51,8 K-
/;fu-{y :g;g j

Z <'n+3 1{6) 2(3‘”5)

60 +z,;

h*ﬁf%

A maﬂ-ﬁAmaﬁaﬁaﬁm‘r

frefi I )
B: mﬁﬂ—ﬂasmaﬁwﬁm’la}

firsfia T B
C: W-ﬁcmaﬁmaﬁ
frefm FT &
Juda AR o MR W WA 10~ 1
IW AT

0, % B 7 s F1 wem A % e

den d 10 Ave &, @ 9@ B A T4
e wafi 22 (sefg B ¥, T A W C
H )

14
24
30
36

BN =

Fad B, & =fgadl & & A A
B, ﬁﬂmﬂﬁ%mﬁaﬁﬁm
A 63 % @ B § =Rl H @ A
mﬁg@tﬁgﬁ% W x 3y
: WH

%ﬁ,

-

-

soN - gk
oo~ L B

W tn Bo—

- Sl

e 13V oI

102




iInothe  question given  below,
argumentarguments
others

some

isare  logical and

e not Identify  the logical

argument arguments,

L Eating lots of vegetables and fruits
Increases mmunity, 1 eat lots of
vegetables and fruits, so my immunity
1s high. '

T

12,99 fou g owe o, g9
T FO T E W AT awd ()
e Hifa) .
L afumarﬁm

) g e %1 A wfewdl o v T @
. Eating los of vegetables and fruits 2
T A . Tafere w8 wimen %9 €
mnereases ‘imunity. | do‘nm cat 1. sf wfssrl o wa @H @ iwen
vegetables and fruits. so my immunity g : 2l
iy i ) ¥ gfg o %1 o gfeen Eﬂqﬁm
WL Eating lots of vegetables and fruits T 2 fe A wa oW T awm
increases immunity. My immunity is %
low, which means I don’t eat fruits and
vegetables.
1. onlyl 1. &ad |
2. Landll 2. 13RI
#Tand 111 3. T3 11
4. lland 1IN 4, T3 11
13. Consider the following figure: 13, 9 fou ™y fom @1 swrm w1
% e
0o O |0 o
wCwelo ol
| 6 olo %
I @ 5
| 6 e ?
@ 4
Which of the following alternatives should A R T fawen § W-w free
| replace the question mark? SEHR WEEE o ¥ ™ B
i {_{ wfew?
i |
o ® o
o |
® ¢




14. Find out the water image of
AVIPU 74306

AbnAt3E”
5, VABNTE3O
VAPUT 129
4 VAPUTH3C

15. A man goes on trek from the bottom to the
top of a mountain. He starts at 6 am of
15th October, 2017 from the bottom and
reaches the top at 6 pm of the same day.
On 16th October, 2017 he starts from the
top at 6 am and goes back following
exactly the same route and reaches the
bottom at 6 pm. Based on the above
situation, the following possibilities are to
be analysed.

1. It is not possible to find a point on the

route which he will cross at the same
time each day.

II. It is possible to find a point on the
route which he will cross at the same
time each day provided only if he
travels on each day with equal uniform
speed. -

III. Tt is always possible to find a point on
the route which he will cross at the
same time each day irrespective of his
speed of travel.

1. Only Iis true.
_27 Only Il is true.

3. Only III is true.

4. Both I and II are true.

16. At noon and at midnight the lohg and short
hands of a clock: are together. Between

noon and midnight, how many times the

- long hand overtakes the short hand?

1 9 i
2.

10
11
4. 12 - ]

1¢maﬁwmﬁmﬁnﬁﬁaaﬁdﬁmi

15.

16.

AVPL 7430

] \"f\l:rll\’t'i(’
2. VABNTH3Y
3 VAPUTH39
4 VAPUTH3C

[ wg A ® @ fag A wEE w
Hvg 74 ¢ R 9% =t 6
# THg W 9 HIT

[ sg wn W U@ fag W wEE &
Hve 3 fod a8 = A A @ @
Tyq W YR HW 9N, 9% was
& guF T | A R

OLse " ® @ R g #: owEE
0 2o dvE § Sl g A T @
ﬁiamzﬂzmta&m,aﬁ:ﬂ:aﬁﬁ1$
oo F T 9 F w;

1. Fad [E8 B

2. haa [EE R

3. pae [ ¥ @
4. 13 ISR W& €

e 12 AN R A 12 T T A
=& o IR wEE T W W § AT
12 a2 T % A A A
S g B FRa TR TR FE R?

1

2

3

4



I -

sMXFOB ¥,

7, af& MENTAL:
17, IFMENTAL: SMXFOB & ABILITY : __*________.3
Cosun o
/GISX . @S
2. BSXWIIQ > SOXWIIQ
3. SGXWIIQ 4. SIXQIWG
3 SIXQIWG .
o # JAILSA
LMER @
5. As JAISALMER is to JAILSARME, 18-3ﬁ A HYDERABAD
as HYDERABAD wis. . -.ﬁ’
(s | HYDAERDBA
_JAIYDAERDBA z HYDRBEDAA
> HYDRBEDAA 2. YDBDREAA
3. HYDBDREAA 4 HYDEADRAB

4 HYqEADRAB

19. Which of the following alternatives will fit 19, -
19
lzth%pla@%\?&" AZ,GT,MN, ?,YB

1. EF
2 5. s
3. SH
SH
4. TS 4. TS
20. Look at this series: 20, Frefafaas@en i @
J14,L16, , P20, R22 J14, L16, , P20, R22
Which of the followmg alternatives will fit faa o | q.ﬁ'q 1 fawey IgF gp"')
/Eblank space?
. NI8 ' 1. Ni8
2. S24 N ' 2. S24
3. MI8 ' 3. M18
4. T24 4. T24

21. What will be the missing term in the given ~ 21. f&T TT 3™ ¥ < w=5 F91 M2
sequence? : =

ACC.8) _, CEO, DFX. o ACC, ,CEO, DFX
1. BDD | 1. BDD

2. BDE ‘)\'\ 2. BDE

_3~BDH | 3. BDH

4. BED 4. BED

o 1 TSN i o
ABCP&F&O"J&& N&;P’M’ UVWRY S
e r ¢

EV WY WA e § - (F l"g 5l n TE T 4 4 1...‘

) | ¥ &




(% (D
which number comes in place of *2*? 23, o3 TR T WA-E G S
2 64,57,66,55,2 . 52 64. 57,66, 55,7, 52
S8 BELELUR
68 I. 68
2. 69 2. 69
3. 70 3. 70
4. 71 4. 71

23, Select the suitable figure from the given 23, 3N # W@ FA F T, e e, e
alternatives to complete the figure. § § g STEH gl

ISiELe;
ofgto
T O
LS e
o

3'. (P | ‘ 4.

24. Arrange the given words in a meaningful = 24. fer M@ W= H wefqul g ®
sequence and find the correct sequence | syt Ffae @ fgu v fawed H q
from the given options: Hel e fafaa:

A) Wall B) Clay C) House A) fmx B) @ O W
D) Room E) Bricks '- D) ®W E) &
1. E,B,A,D,C 1. E,B,A,D,C
2. B,E,D,A,C B,E,D,A,C
_37B,E,A,D,C 3. B,E,A,D,C
4. A, B,C.D.E 4. A,B,C,D,E
p0 -



25. Identify the figure that completes the

pattern.

25, 5 ahn F e Fifg, A A B

26. Replace '?' by the appropriate figure
from the given options.

F 2
. ';{ ’ _
VA
A

%

2

al

)

]

10




7, When a square shaped transparent sheet
with the patten shown in the figure is

77, W@ amepta H TN

folded along the dotted line which pattern
would appear?
i
Al A
|
|
|
AR RA
'l '
N\
1
|
/\ |
[ ]
A
A
/\ |
¢ |
—
28.

28. Fact 1: All monkeys like to jump.
Fact 2: Some monkeys like to swim.
Fact3: Some monkeys look like their
masters.

If the first three statements are facts, which

of the following statements must also be 2

fact(s)?

I All monkeys who like to swim look
like their masters.

II. Monkeys who like to swim also like to

* jump.”

III. Monkeys who like to jump do not look

like their masters.

1. Jonly u
7 11 only

3. IlandIll

4. BothlandII

11

gl @ @ fag-tan dwr s t
T4 FF-a e whe wm?

—— s

S>> L.gg

q97 1: TR X HIA T A ¢

T 2: TO TX
Teq 3: O AKX

afz 37

3 TR w7 2
s T oY e g
Foq 74 €, a1 frefarad

F § FE-T (}) FUA a4 EEN?
I 3 Wit S S 4 TEE B ¢, M

e S e g

I, &eT S don v A €, FEN H T

FQ 2

[ ¥ S BeA TR B €, A HeThi

¥ T fad R
. &ad |
-l
11 3R 111
. RS I



29. Given below is a statement followed by 29, LS| ‘Ifﬁ 3:;??&'47 & e .
two assumptions. FHegarg gt ' :
The population below poverty line has froet ad & ?a‘{ﬁﬂﬁﬂ A H ©
increased in urban area during the last 2 71 e § & ] 2:
year.
Assumptions: FHEATY
[. The population below poverty line has | o &3 F M @ & ikt
decreased in rural area. - ' el 2
g ¥ w4l I
L The.populalcilog b.elou;lpoverty lil"le has [ Fd9F ad & q*mE:[g _ﬂﬂt‘sﬂ Yar & 4
not increased during the current year. - 1 _qrz. T §'§ 2l ¥
Which of the assumptions is implicit in the Swfa Fo § H-H
statement?
)/c;rlxlylis implicit. 1. aa | fifea @
2. Only Il is implicit. 2. e 11 fafed 21
3. Either I or I is implicit. 3. @A 1@ 11 ffea @l
4. Neither I nor Il is implicit. 4, 71 3T @ I fifew B

30, 39 (37) frewd (W) # w@EH FIN,

30. Identify the conclusion(s) which logically : :
follow(s) from the given statements : few TT FHYA | qfhE T F T &

A. Fo o9 ffem B
B, foftr o9 o1 WRER TEE W &

A. Some men are educated.
B. Educated men prefer small families.

Conclusions: forered 5§
I. All small families are educated. - [ [t 2R e fafim 2
- II. Some men prefer small families. [ F0 79 B YRER T8 H 2
";/Only conclusion I follows 1. e frend [9ra g 2
” Only conclusion II follows 2. Faq fred 11w & B
3. Both I and II follow 3, 13k 134 o< g &1
4, Neither I nor II follows 4, @13 T T WS BT Bl

@

12



_ A watch is showing right time at 9 pm.
This watch gains 10 minutes in every
24 hours. What will be the time shown
next day by the watch when the correct
time is 2am?

~02:00:24 am
2_ 2:00:48 am
7 02:02.05 am
4. 02:02:30 am

32. In a school, students are offered subjects in

such a manner that they have to choose at
least one subject from History and
Geography. Accordingly:

All students who study History also study
Geography logically implies:

I. There are no students who study
Geography and do not study History. .

II. There are no students who study
History and do not study Geography. e

I11. There are no students who do not study
History and do not study Geography. il

IV.All students who do not study
Geography are students who study
History.

1. TandII

2. land III
. Il and III

4. MTand IV

50 ' 13

31.

32,

#gﬂﬁ'l’rﬁl‘:)ﬁgﬁmqmm
wEt w24 WA A 10 firre @ 5
1 Ak ot A WA 2 AR R ey

i1
N
HEt gRI ZRIAT WA F41 Em? £

1. Wi: 02:00:24 =St

2. W: 02:00:48 T

3. W: 02:02.05 9

4. WE: 02:02:30 T

frdt e |, faefdal = fami =

THR w1 9 2 R IR sfww

i gia ¥ ¥ F9 A FW W fawg o

B B 3 STER:-

geft faenefi St 3hEW veW € 3 e o

m%m—mﬂawm%

[ tm @i famed T S yiw W
svgTd w ¢ 3R IR w1 s
T F B

I Y = fameff 7 € 9 sfem =
qEgd w T MR e w1 s
T F R

1L e #E faenedl 76 & & sfmm =
s T8 F 2R e @
FFgT TE w2

V.3 @t faenefi st sie #1 semge T
F@ T, 9 W@ faeneff € & sfem =
AT FQ B

1. 18R 11

2. 13RI

3. 3R I

4, 13RIV




33, In a city, all the roads are either pa'mllql o 33 Pl e ¥ - foqm
the East-West or North-South direction ; . -

Every %th of a kilometre from each road P Ly gqm @ @ W Th
there is a crossing and the square area 3 qor =W ?i‘r?rﬁ & o4 A fau FihT
covered between four crossings 1.s‘called a b wits el 3 e ] aaam;
block. Starting from a crossing. if 1 travel & i T 2 s =@ H
four blocks north, take left and then trz}\'el . fopr R o
three blocks west, | reach another Crossing. 31‘1'{0 qea §, NN o < T
What is the distance between these two =l ?’ﬂfﬂ L0 @gﬁ % et {ﬁ
crossings? rar &l ¥ Ll <l
272
| block
1. 5km 1. 5km
2. 7km 2. 7km
3. 8 km 3. 7/8 km
7 5/8 km 4. 5/8 km
34. How many minimum right turns will you  34. 39 W § TFA T e § F9 9 HH
take to reach school from home? | fareht IR T SR P22
Home / ®X

B 1
7 1 41]:3[[ §a}
1( j V{Q




45, A & W ol FO whRE & fen,
Aarfi feorfit oI STAEE (GMP) 1 zaife
#| v oTAR TH T GMP T 21

The figure shows the Gender, Marital
- gratus and Profession (GMP) of a number
of people. Each shape shows a different

GMP.

r‘"\ | )

£

. G e : SrdE, 9ecd e, TEHd
Circle indicates total  population, ERI | i fve 2R
trapezium is males, pentagon is married, foanfeai, 3ad HATTH! B
rectangle is teachers, and triangle is %! FRiId Ll %!
doctors. vq anpfy § orfe &% F frefua F
What do the shaded regions represent in Y, '
the diagram? ;

" married males who are teachers ~ . forarfed Qo9 S SATE €
7. unmarried males who are doctors. 2. wfaErfed geW ST SEX & .
3. unmarried females who are doctors 3. affaanfed Afgemd S Siaet |
4. married males who are neither doctors « 4. . foafea ge9 St 7 @ SR g R 7 @

nor teachers SFETH T
{
15
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Directions (Questions 36-38) -
Each of integers 1 to 26 is represemeq in
the - Venn diagram in the appropriate
regions P to W where region

K represents integers from 1 to 26.

[ represents even integers ﬁpm 1 to 26.

1 represents perfect square Integers from 1
to 26. '
1] represents prime numbers from 1 to 26.
W represents numbers from 1 t0 26 other
than those in I, I and IIL

?Iﬁzéﬁﬁmwﬁmlﬁm
ﬁgéﬁﬁﬂﬂ'waﬁmn
@6@% s gems eI
frefm w0 € am W P

36. Which region contains exactly two
integers? ,
1. Pand Wonly
2. Rand U only
37 S and W only
4. Uand W only

w9
37. The total number of integers in S and R is
equal to the number of integers in

. Ponly
2. Tonly
3. Vonly
4. Wonly

16

bs gl :@’
A b
ol @
. \
\Af,\"’)_';?'j'
\b
54‘\1
T
36, f5g &3 ¥ 9% Q [iiE whufem ¥
. ae PR W
2. @ad R3R U
3. %ad Sk W
4, Fad Usik W
| 37.S 3R R ® Qi 1 g wen frefatad
q Uil Y S & s &
1. SaaPp
2. &EAT
3, &HEayV
4. FEaW

- S109 TRECN/ 8—13—1 5-MAT-Hindi—2B



g, Which region contains exactly eight 18, e A A i 33 TIE #?
integers? o -
1P . P
2. Q 2. Q
_,J./ R 3. R
2.8 4. S
in a school, commerce and arts subjects 39, freht wga H, T S W .
3-9 were offered. Some students opted only qaran S 2 I° frenfefal 3
. for commerce and some only arts. There ) T a0 FO 3 ¥ae w w1 g TP
were science students also who did not faee & faeneft off 2, it T ¥ frd
choose any of these subjects, The rest of &t g - T g S LI I
them accepted both commerce and arts. s e o e wfrwr w1 el
Which one of the following Venn diagram w feuf = FHE-T A s W ¥ W
correctly reflects this situation? syt S Y,
% = 2

QD
O

aD) O

40. A person walked 100m straight from the 40, TF =w &3 A g | m—'ﬁ fem #

)@

point 'A’ in the North-East direction, 100m =E@ &, FE ¥ 200m FO-ufEs
walked 200m in South-West direction fegn o wor €, T sw-7@ fm & 100m
from there, 100m in North-East direction " = &, @ W AR 100m =@ %, 200m
again, walked 100m eastward, 200m = F SR e & A ofrem F &R
southward and 100m westward to reach at 100m =e@X fig B W ﬂi"‘m AR
the point 'B'. Choose the right answer from v 50 R fem T & f SreterEd
the following to find out his/her distance 3} T8 I W
and direction from 'A’". 3 y
1. 100m, North 1. 100m, 3T
2. 100m,.South 2. 100m, &
3. 200m, North 7 3. 200m, I

4, 200m, e

5/200m, South




Directions (Questions 41-44)
Items 41-44, cach contains a question ol

- H = 7 l" q
two statements | and [l giving certan Il €, fomd @“qﬂ?ﬂ‘l q TF;‘; z;w
data. Select the correct answer from (1) to 4§ W e T 3
(4) depending on the sufliciency of data T@F T F I D fere (1)
given in the statements to answer cach T I G-

ki feru, Afg e

question. , o 1 IW A & .
(1) If I alone is sufficient and II alone is e & & qun &aa e TEl gl
not sufficient to answer the question. () T F IN X & fag, g W
(2) If 11 alone is sufficient and 1 alone is 2 Wf‘?l 3 qon Al | i el 2l
not sufficient to answer the question. i for, Af | 3R
(3) If both I and I1 together are sufficient () |1 ot P o ﬁ FE off
but neither statement alone is sufficient 3 wa € WG i 3
to answer the question. HUT aﬁk@f A ! _—
@) 1f both | and Il together are not @) e F1 W 3 F I, AR
sufficient to answer the question and i @ & aun WA ° Haferd
additional data specific to the question g H1 avEHal el
are needed.

A,Baincdwms:&la?aﬁmaﬁw%

41. A, B and C have money with them in the 41

ratio 5:3:1. How much money does B B& 99 foaa ¥d 2? .
have? | A% U@ C ¥ T60 afi €
I Ahas 60 more than C I BFI*H A o 479 40%HH 2l

Il The money with B is 40 % less than
the money with A.

1. (1) L (1)

20 : 2. 2 G

3. 3 ; 3. (3

4. (4) 4. (4)

42. What is the cost of each pen? 42. 9% 91 H I FE? _

I The cost of 6 pens and 5 pencils is I30. [ 67 3 s el 1 5o T 30 €1

11 If the cost of each pen and each pencil 1 af% v 11 3R o if9d & g
is reduced by 40%, then the cost of 12 ¥ 40% T FE F SR 2, q@ 12 o
pens and 10 pencils will be ¥ 36. - 3 10 el @1 gew T36 B

1L ) L (1) '

2 (2 2. (2

3 13) 3 3 '

4. 4 4. (4)

18



43, What is the ratio of savings of A and B?
The ratio of income ofAandBis5:6
11" The ratio of expenditure of A and B is
3:4

(1)
(2)
3)
)

=W

44, What is the ratio of the selling prices of
two articles A and B?
1 The cost price of article A is equal to
the selling price of B.
11 The profit made by selling A is equal
to 1/5 of its selling price.

1. ()
2. (2)
3. 3
4. 4)
192018
45. If in a code langua}%@ig;%%= 50 and
E'I’I}I‘J% = 65 then will be
“l. 68 1
2. 78 -,q,"’“’
3. 84
4794

46. Pankaja puts her alarm clock on the table
in such a way that at 6 pm the hour hand
points to North. In which direction will the
minute hand point at 9:15 pm?

1. South-East

2. South

3. North
,}./ West

&k ;

g
Z\? - 20
qﬁ 2%

19

43

44

45, s TRt

46.

A ST 13 T AR R ST w8
| ASB® 3 T SIS : 6 ¥
I A3NBE® =@ & W3 : 4 &)

(H
(2)
. )
. @)

& W) -

4 aqell A SR B & faora e 1

I 7

1. HEI,AEFEWQFJB%W'@%
Eacild '

L AR 3T T W w0, 7 e
qgn:éﬂ/sasm%l

1. (1)
2. (2)

1. 9
4. (4

%z o H STAR =
CIRUS = 65 PLANET B~

1. 68
78
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v 079 "
= &
" ot
- uF Gd @l E
47. One evening before sunset two frufnds 47. g:ﬁargtm | Tﬂﬁ- @ q@ @ W
Rajni and Sanjiv were talking face to face. : Hﬁiala o o w o I
If Sanjiv’s shadow was exactly to his right T4 T W 9l & et % TE T
side, to which direction Rajni was facing? IS TE SR o,
H 17
1. North 1. W
2. ANorth East 2. SW-
/gomh 3. =fa
4. South East 4, fgo-wd
- R @R fkam T E
48. The square boxes in the figures below are 48, 19 f&T W_@T; Johikhiputiiper
to“be painted with different colours such El o e : ATMEF R T
that no two adjacent boxes (even ST ‘%I = ™ RE M N - ﬁﬁuh
diagonally) have same colour. How many ot ot @m’r ﬁ_ (Fe1 9 Ll f?rrq
minimum colours do you need in each ) T S T A e WS
case? " =" fad TN H1 TavEEwal wHil?
% 9 \ 15 \
V| s A =N I
0 |y I % ]
‘57@ 4) 1. 3,4
/& a) 2. (4,4)
3. (4,5) 3. (4,5)
4. (3,5) 4. (3,5)
49. What is the number in place of '?' 9 49. ‘Y& TWF W T T 2
2Y23,3V19, 5V17, TT13, V1Y, 2. _ 2Y23,3V19,5V17, 7T13, 11V11, 2
1317 -, - Ly T
2. 13v9 - 2. 13Vv9
3. 13W9~ 3. 13W9
4. 13U7 4. 13U7
_50. Identify which number does not it in the 50. Te=ItTT fof wH- e :
sequence? & T TR A g
56, 182, 210, 240, 282, 30
"ig"’ 4t e i 156, 182,210, 240, 282, 306
& wrn o 1. 182
' 2. 210
X306 - % 4. 306 Wy
S ot



2%

o

1) e’

Xy

. What is the number in place of '?' ?
i 14,38, 143, 221

51, ‘7" WA W F q@n #7
6, 15, 35, 2, 143, 221

1.74 1. 45
2. b5 5 65
£ 7" 3. 77
4. 93 4. 9

; ; . : 4
A pattern is being followed to derive . o
e 29 # 3 A vem 9 T K g

numbers using two out of the six numbers
appearing on the faces of a dice having © gt wE i € (4 3 9 wftAfer %)‘
numbers from 4 to 9, both inclusive. Two W g g " 106 s 52 W g 2
such pair yield 106 and 52. What will the frat gm |/ T W< Bm? ;
third pairs yield? %
5 7 7
& = il é
S 411 5 -+ 6 | °
3
1. 100 1. 100
7 113 2. 113
3. 130 3. 130
4. 145 4. 145
53. Which group of letter given in the 53. famed # fau =1eli & wgEl ¥ ¥ HH-W
alternatives will complete the sequence? wyp frefafaa sed ®1 90 FOM?
anttarant fana nt_fan ; a_tta_ ant__an_ nt__an
yt ntt 1. atntt _
“nntat 2. nntat 26
3. nantt 3. nantt \6
4. tntat 4. tntat
64
B
|\ 3

21



Directions (Questions 54-57)

A group of students is sitting in such a way
that each occupies a corner of a hexagonal
table. Ninong is sitting opposite 10
Yaangba, Ribiya is sitting next to Silva,

Nazeli is sitting opposite t0 Silva, but not
is sitting

next to Ninong. one person
between Talyang and Yaangba.

54. Who is sitting opposite t0 Ribiya?
1. Yaangba
2. Silva

)./ Talyang
4. Nazeli

55. Who is sitting between Ribiya and,
Ninong?
1. Yaangba
2. Nazeli
3. Talyang

A silva

56. Who is sitting between Talyang and
Yaangba?
_)_./ Nazeli
2. Ribiya
3. Ninong
4. Silva

57. If Talyang sits to the right of Ninong, who
is on the left of Ninong?

1. Ribiya
2. Nazeli
3. JYaangba
- Silva
Naw,i ﬂ*b-tyo-
Yo"

22

54.

55,

56.

7.



58, A cylinder is painted in 6 colours - Violet, 8. it Aem w1 6 i 5 i h‘rn —
Red. Blue. Green. Yellow and Orange. The pucificiof ﬂ__" w0, e sﬂr e s
three positions of the cylinder are as ® A feafmi A9 o ¥ e forl
follows. Looking at these figures, identify JE TP W TR W *: !
the correct colour in place of' ", . Nte

Orange | -
w ..‘ );Cl!n\\ Ok i ) n-nit
I RS e SR\ e e\

(h (1 D 2
1. Red 1. &

2. Blue i Hren
. 8
3¢ Green .

59, Find the missing number at the place of 59. ‘M' & TR R fagqw e fafan)

'™'?

AR AR
DED

/46 1. 36
2. 52 2, 52
3. 81 ' ' 3. 81
4. 117 4. 117

60. Which letter replaces the question mark (?? 60. 9w =& (?) % 9%e SHH-T1 S ATT?

o)

Bl g
IS

‘ 9
00
- 3“@

z >

X



61. Which letter replaces the question mark

B o—

oz

61. HA-T1 A& T fo@

M?

6 4 T
r ‘*
AR o= I I [
5 U ? |
> .
6 10 14 » 2
1. M

7. O

3P

4. Q

62. ‘M’

62. What is the number that should come in

place of 'M'?

24

N

(7) & RSN

%wﬁmaﬂﬂ-ﬁ#@!aﬂf{’ﬁ?

M

68




63. In the given figure which number should
replace 'M'?

63. R ¢ empfa d, ®A-W wem ‘M % ram

4
11
13
19

BN

64. Manushi remembers that birthday of
Chaitra is after July 10 but before July 17,
but Vishakha remembers that it is between
15 and 27 July, both inclusive. If July 10
was a Thursday and if both of them
remember correctly then on which day was
Chaitra's birthday?

1. Sunday
- 2. Monday

j)'«uesday -
A" Wednesday -~

65. A family consists of six members P, Q, R,
XY L
Q is the son of R but R is not mother of Q.
P and R are a married couple.
Y is the brother of R. X is the daughter of
P. Z is the brother of Q. '
Which symbol represents all the chlldren
of P?

yxyz
~QXZ
3. XZR
4. QZ

i) s } %) Zﬂ
8a16)

64.

T 3Tt ?

et AR ® R e S e
10 & &1% Wg SR 17 ¥ T 7 9y
favmar # 4 ¢ fF a® 15 3R 27 e
& = d ¢ (3 @ afmfem €)1 3Rk
3w WE AR € SR Y 10 &
Feefaar o1, @ == &1 59 fEe &\ ogen
1?7

1. Uaar

2. WHaR

3. HTeER

4. FYaER

65.

fordt ufteR § 88 s P, Q, R, X, Y, Z #I
R & 99 Q 81 g Q ® Al R =&t 21 P
3 R foarfeq <ufq 31 R @1 9 Y 1 P
FE XBIQ F ONE Z R

FH- fawey P & aft a=a1 = Frefm
F 7?2



. 1 »
66. 1 noticed that my watch goes ; Mminute

' "
fast at dusk, but at dawn it loses; minute.

On 1st March moming my watch showed
right time, then on which of the following
dates the watch was 5 minutes fast?

1. 28th March
2. 29th March

3. 30th March
/3 1st March

67. What is the length 'x' of the line segment
CD in the triangle drawn below?

66,43 2 f ) o T 4 5 P2
i & vy g L e A
afi 1 e ) g A o
3 o freffan & 9 fr Fed
R

28 7

29 9

30 7
31 94

7. 919 few my faee 4, farde CD
w1 'y @ AR 87

'L-S.o-)lb._)-—.

.

68. If mtn=o0+p,
m+q=p+n, .
2p<m+qand2m> o +n, then

. o>m>n>p>q
2. m>o>p>n>q
3. n>0>p>m>q
4, o>p>n>q>m

s =
=B = W VT N

68. A m+n=0+p,
m+q=p+n,
2p<m+q3IR2m>o0+nt€, @

0>m>n>p>q
m>0>p>n>q
n>o>p>m>q
0>p>n>q>m

B



g, |f water image of OXIDE is OXIDF, 69. ONIDI: #1511 wfafireg (), $ 3
then water image of METAL will be MUETAL 1 /@ wifar g - &
| JATIM I, IATM
ﬁﬁﬁwr 2. WELVT
3. MATA 3. MATA
4 METAL 4. METAL
70, How many dots lie opposite the face  70. frefefas FTd i HEgFT 7 T
" paving three dots. when the given figure is ™ ST, @ ew W dn ﬁg’ a
folded to form a cube? 39 FHE Hed W R fig g
L 2 1. 2
1 2. 4
3. 3. 5
Vs . 6

71. lf (% iS |+|, 1! iS |_r, 1t iS et and 14! iS 'X'I 71. qﬁ|+t%l+t, rxi%l_l, r_!%n_,__r 3;ﬁ—{ '+'%'x" Eﬁ
then what is the value of : 20+4x12-6+11F 91 1 82
20+4x12-6+11

X2 1 2
25 2 5
3. 56 3. 56
4 65 4. 65

20 T4 =21
7.1, 4=
Zn
A o
6

27




7

. : : i ompfa H ST
72. Six dice are stacked as shown in the 72. 8% m%ﬂ njt 3 e @ W, I 74
figure.On each dice, the sum of number s o woF W o
appearing on a face and on the face T D m?fﬁg H’E[@‘I |
opposite to itis 7. . 3 gemst # 7
/ |/
Bl ML
J 1R
, (’ ‘4 4 J ES :_‘:’
* 4§ 51 (/ ‘1! a
w g ;
' ol W
What is the maximum possible sumofthe . frant & mt:h ‘ﬁﬁ'ﬂg ? L
numbers on the visible faces? arfirmas 999 el
1., 88 1. 88 “
.2./ 89 2. 89
. 3. 9 3. 96
4. 147 4. 147
73. Observe the sequence given below and 73, = g IgEH 1 fEg T 3w

select the appropriate alternative which
will maintain the series.

\ a1l
6 45 36 4

1 o
A
£

3. 2
A
g 5

25

28

foea gfie faed sae

4 j\*
7 64 219 1

2..

am i @Bl



74. Two positions of a dice are shown. When
pumber 3 is on the top, what number will
be at the bottom?

1<
—

§]

,_1( 1 but not 4
9. 4butnotl
3, Sord ’

4. 5butnoté

75. Which interchange in signs and number
would make the equation correct?
(96 +128) + 64 =2

96
/1,/+and-:-,64and96 (6urns”
2. +and+, 64 and 128

3. +and+ 96 and 128

4 +and+,94 and 128

76. Let “%" stands for "is equal to”, “?” for
“greater than”, “#” for “lesser than”.
If 6x% Sy and 2y?3z, then

lo 9

3z 2% 2 32
2. 4x?5z 4w 752

3. 2x#z Z
4, 4x % 3z

77.1f Q means 'addition sign', J means

'myltiplication sign’, T means 'subtraction

sign' and K means 'division sign' then,
30K2Q3J6T5="?
Find the number in place of “?".

1

3. 31
4. 103

0]

202 213 »‘s'é -
1S+ 18~G

tJ

G

1 g 4 )q 2
49(g 1 T

54

5Tg4 TE

B

75, fagl 3l wEmsll § W ®R-w Tzmm

76.

T7.

br s aquol 185y

2y o b

i

ol S

T F T I AmM?
(96 +128) + 64 =2

+ 3R +, 64 3 96
+ 3R +, 64 3 128
+ 3R +, 96 3 128
+ 3R +, 94 31 128

P 102 By o=

A difen fF “%” =aa H ¢ TR §
F Y, R FE T W AW W, AT
T = F@ B

Ik 6x% Sy 3R 2y?3z 8, @

2x 73z |

4x 7 5z

2x#z
4x % 3z

ok Q ®1 4 ‘dm feg' ¥, 1 W
o fag' %, T w1 9 ‘oawen feoR
3k K ®1 o ‘fawew fog' R, @
30K2Q3J6T5="?

‘2 & ™ W W gen ¥, 38 fafey

1. 18

2. 28
3. 31
4. 103

b =Ty
2%%73%

(3.5 343

g% @
o ol
g



a9 g g fered § A R T

78. Which figure should come next among the
options given below? 3 Tt? 81
C | e
1 2
@) :
& :
O
3 ] v P
8

79. Observe the trends in figures given below ~ 79. 9 & & st ® wgfd <@ d°

and find the missing character. faoqa fos =1 @ifau|
‘n, g Vo 0 1 “\"\ |
A AN 0 P A 25 &
L O ) O O AN
=
A
O ‘
[ S Y ) 0 v ?
A 25 A A A
0 AN al |x® A O
l. : 2' e
& ' 'S
3.
G 4,
O 1

30



7

80. — ]
ivalent ol ol el Bl Kl U &
Equivale
q5igns Sle| T t—I—a C ]/
3xg=4t) - 2

3T8L42¢S 9

What will come in place of 2?'?

e

- oIl
5. 1
3. L

g1, Complete the missing pattern.

s

$0.
e | *
fe |-
(3 +2-1)--6

[ 71241726

99 F TH W F HTm?

5/09 TRECNI18——13-15-MAT—Hindi—-—3,

31
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82. Find the number of rectangles in
following figure

the

sz.qﬁﬂwﬁfﬁmﬁfﬁmﬁf@w

0148
2. A7

. 16

4. 15

~ 83, In the given matrix, first row and the first
column consist of symbols and numbers
respectively, the combination of those
would be the code for specific alphabets

given in other cells. For example, the code

for 'G' could be 18 or 2@. In the same

manner, what from the given alternatives
will be the correct code for "PEACE"?

1. 18
2 H
3. 16
4. 15
g3, & fire ®, yom dfem IR FoH W T

3} o wH (Few) & fafre e 3
fofu Fig o 81 ITEWE:, 'G' % fIT B
1$ o 2@ = THA ¥l T FER 4, KU
frredl § ¥ "PEACE" & fau #al &n
7 BIm?

g
0 A p QO | v
l T P S &

G R N 1
3 I M 0 |
4 ( I A (
s ! R P \




g4, A square sheet is folded into half, the line
of folding. being parallel to a side of the
square. It is again folded into half, the line
of folding being parallel to the shorter
side. In this condition the front of the
aper always appears as it is given in the
figure below (the dotted lines rEpresenl the
folded portions).

ﬁ

84, TH AMHER FR H) WEF 70 v s

From the altematives choose the correct
figure which represents the paper in to
original unfolded form.

l: e
o
® L
LY @
3 o @
© °
e o
-l e o
S
85. 2
A | BY
4 ] L]
CY| Dg| E4| Fs
4
Gy | H4

A B C D,E F G, H are each to be

assigned a different number from 1 to 8.
What should be values of B, D, E, F, and
G so that no consecutive numbers are in
adjacent (even diagonally) squares.
Given:A=5,C=2,H=4

L

L2

T € R g Wt

‘ S T €| ) T
gﬁlﬁ?ﬁmﬂt!ﬁl}ﬁg’l:lﬁgmmmﬁ
EEL S E U A
oUW T S ¥, g gy

o o W AL G g dm
Rearém ¢ (Righea Yo w2 Tu s
it &)1 v 5 g
feu gu famedl ¥ ¥, ¥ ampfa 9fm =i
FS & T W W ¥ o anl
1 frefia w21 K
2 o o °
/ ® ©

A9 By

cl Dg| E) F&-
G4 H4

A,B,C,D,E.F.Gaﬂm_ﬁ@wimaﬁm
Swmﬁﬁfm#wﬁﬁﬂzﬁw
# B.D,E, F 3R G % 5 0 & qfs
FE o W FEW TE EA Eul
(Ferofa: sty o &1 &l

3,

4

=

O d

ama’?
T 8:A=5, H=

e

. L] 117
( [
.7
.7

,

- RN
o O\ oo oo

k]
.
3 L] L]

_—ud ]

-
3
>

B —
S8

J

2 ?

(
(
(
(

{
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AL s
FerEE § i€, 45
86. In a farmhouse there are 50 hens, 45 goats 86, fet s % ﬁ%oﬁ 59 AT
and 8 camels which are maintained by a 3R § I % > B 4
few supervisors. If the total number of feet BN '“'ﬁ St s w2 A 22 4' i
be 224 more than the number of heads in Fa gE i aﬁ R H@" 3
the farmhouse then the total number of g @ gl i P A
SUpervisors is
JAW L,
2. 8 2. 8
3. 10 3. 10
4. 15 4. 15
87. If in a coded language. §7. afg feit e |,

‘Busy bees’ &1 ‘Cpu cfl” fer@r i A
‘busy crows’ 1 ‘cpu hup’, fer@n s 4
‘Bright Crows’ @ ‘Csj Hup’. fer@n S L

‘Busy bees’ are coded as “Cpu cff’,
‘busy crows’ are coded as ‘cpu hup’,
‘Bright Crows’ are coded as ‘Csj Hup’.

Wﬁ : 4 '
Then, 'Busy crows are clever' will be ‘Busy crows are clever' P ferat
coded as o )
1. Cpu Hup Bsf Dmf 1. Cpu Hup Bsf Dmf
27" Cpu hiip bsf dmf 2. Cpu hup bsf dmf
3. cpu Hup Baf Dmf 3. cpu Hup Baf Dmf
4. . cpu hup bsf Dmf : 4. cpu hup bsf Dmf
88. What is the code used for ‘Blue' derived ~ 88. TH e WMl & FTER 9 fau wul 9

from the given coded statements as per a
code language?
I. 'Flower Blue Red White' is coded as
- 'SaRa GaMa'
I1. 'Take Red Pink Flower' is ceded as 'Sa
- HaMaPa' _
III. 'Take Blue Red Buds' is coded as 'Pa
Da Ma Ga' . ;
IV. 'Bring Red Take White' is coded as 'Ma
Na Pa Ra'

1. Sa
2. Ga

R

123 + 0 1-2?,‘-1:222 +2n

¢ 323-2322 &
: % ' 34
‘B

s ‘Blue' & fow fg g &1 wam

gm?

I. 'Flower Blue Red White' @! 'Sa Ra Ga
Ma'feran <irar &

II. 'Take Red Pink Flower #1'Sa  Ha Ma
Pa'faar s % '

[11. 'Take Blue Red Buds’ %1 'Pa Da Ma
Ga'feran wmn &

IV.'Bring Red Take White' %! 'Ma Na Pa

Ra foren smn & .

Sa

Ga

Pa

Ra

F L B e

gy - ReA~tA



igi i .wef;@'ﬁ@wrﬁwmw
89, What will be the number of digits _usec: n; 89 & R o
numbering the pages of a book having ﬂlaﬁmﬁ? TR HAr e
es-
£} 1. 398
y9 : 2. 489
3. :gg 3. 495
{ ' 32
4, 532 4. 5
¢ ferdt et o 678 @ AU “study very
i de 678 means ‘study Very 90. e : b
- Ll;?ﬁ':’eﬂ;n‘? cn(iec S ‘hafd work pays’ and hard’, 347 a1 ‘hard \:vork pays
246 n’leans ‘study and work’. 24651 ardd ‘study and wol;lg % P
Which of the following is the code for ‘very’ o faa, -
‘very’? 2m?
1. 4 1. 4
2. 6 2. 6
3 . % 7
)./; 4. 8

91. frelt H2 s § 'TOME' ®1'@ $ * 7 foe

rtain code TOME' is written as '@ 3
B ith m%am'ARE'ﬁ'!&?'%mm%

* 7' and 'ARE'1s writtenas ' & 7.

How can 'REMOTE' be written in -that Td e W # 'REMOTE' 3 fF9 TER -
1 g?2!18@7~ 1. &2!83@°?

7&7*8@7 2. &2*$@?
3. @?*8@7 ' 3. @?*$@7
4, *@8$*7?! 4, *@$*7!

92. If in g, certain code o2, afx Fret e W H 23 x 26=42% A

23 x 26 = 42 and, ' 11x15=19%,
11%15=19 , A |
e 12%16=7% d
32x16="?
g-¥ .
1. 40 1. 40
s 20 41 | 2. 41
3. 44 | 3. 44
4, 48 ' 4, 48
|80
20 0O (09

4% 9

| 35
S/09 TRECN/18—13-15-MAT-Hindi—4A



93.

A B C D EdE

In a family of 6 ( - & conple “_'i‘h

members, there is oné m : inle
equal number of male an

; . s and
members. Read the following r<=:lat10:tsi o
find out the one from 'the allef'ln ;
which is not true for the given family.

Relations :-
A and E are sons of F. )
D is the mother of a boy and a girl.

B is the son of A.

1. A,E,B are males

2. Cis the granddaughter of F
3. Cis the daughter of E

4. Dis the wife of A

94, If P+Q means P is husband of Q, P/Q

95.

means P is sister of Q, P*Q means Pis tl}c
son of Q. How is D related to A In

D*B+C/A?

1. Son
2. Nephew
3. Sister
4. Couple

Afsana was walking in a desert. Anwar
was passing by riding on a camel. Afsana
requested for a lift.

Anwar said he will give lift only to those

who are related to him.

At this, Afsana told him that Anwar's
mother-in-law is the mother of her mother-
in- law.
How is Anwar related to Afsana?

1. Father

' 2. Maternal uncle
3. Brother-in-law
4. Father-in-law

36

&7 o Q F1 U P T, P/IQ =

94'$P+%m pd, PHQF FIQH

gap%,eﬁD*B+C/Aﬁ A ¥ D f&¥ wn

Safir €7
1.
2. wiem
3. 9@
4, < b

~

9s.awmqmtﬁmﬁaarﬁﬁlm

T $2 W 431 W ¥ S W AN TR
3 faw & fou w1

AR A FE fF 9% Faw IW B AR
W W, SHEE 1 I I R A )
TN IH] WE KT A ¢ S TFEEAT T

g o wafua 272 4
1. fa .
2. HMH
3. W&
4. HY

\

SI09 TRECN/18—13-1 5-MAT-Hindi.
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96. A person travels from Mumbai to

Ahmedabad by car in 5 hours. The speed
of the car during first hour of journey was
60 km/hr. For the next two hours speed
was 80 km/hr. Next hour it was 100 km/hr.
Finally, during the last hour of his journey
he drove at 40 km/hr. What is the average
speed during his journey? .

1. 56 km /hr.
9. 67.4 km /hr.

3. 70 km /hr.
/72 km /hr.

Directions for (Questions 97-98)
Study the pie chart and information given
below and answer the following questions.

Book
Reading
9%

Nature Club
14%

There are 1150 students of a school opted
sports as a hobby.

97. How many students have book reading as

a hobby?

1. 390
2. 420

98. What is the total number of students in the
school?
1. 4990

275000

3. 5050
4. 5100

37

96, HY§ A FR G0 g 3 T |
ﬁlmsﬁﬁmm%lwéﬂw |
q?.ﬁ‘ma-ﬁ A 60 km/hr o Sm‘&qg

- " H = 80 km/hr tﬂramﬁtféé
100 km/hr e Wﬁﬁmw:ﬁz ‘
T 40km/hr @t IGH! ' |
E T § s

1. 56 km /hr.
2. 67.4 km /hr.
3. 70 km /hr.
4, 72 km /hr.

oAt 97-98 & o Fdom:
1% fag T AR F AU

@aé?nsofamﬁ@ﬂaa’lmwﬁm
(2t & w9 T &
97,@@%%@%'@1?

390
420
440
450

BN -

9s.wﬁﬁwﬁaﬁaﬁ§ﬁmmﬁ?

1. 4990

2. 5000

3. 5050

4, 5100 égé/
| p. ' b
R
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99, The following table shoV 6 peven
of BO}'S and Girls studemS o __-_____________.._—--—--'—-_—____
different schools. . a8\ PIES oraTd
School Boys Girls TR (WT.JUG) (@24.?00)
‘ (Total 27,300) (Total 24,700) T
A. 17% §% — 17% T
129 15% ] 12%' " o
= 5 o 12%
D. 13% 13% = — I3c|/°
E. 19% 14% = 19% 14%
F. 14% 21% F' 14% 21%
G. 15% 17% G' — 7%
the number of F o omed ot o F1EE
What is the ratio between the number ; : 7 2
Girls and Boys students respectively from qEms H 3"13‘“
school F?
1. 14:21 1. 14:21
y 2. 19:21
2, 19:21
. 3. 17:21
3. 1121 o
719: 14 4. 19:1 _
100. Ayush, Hina, Harbhajan and George are 100. 3mq¥, fem1, som@ iR %fﬁﬂ g
student friends studying in Delhi and plan T FH A ﬁ'ﬂ'lﬁ f‘ﬁl >
to go on winter holiday some where in Yidseld 3EHe § 9%d § el 9H #i1
India. They can go to Rajasthan, Goa, oM S 81 A SR, TeN, e,
Kerala, Odisha, Madhya Pradesh or any of IS, 7 Ry 41 fRd | I T’ﬁ"" S
the North Eastern States. % -?rlT T 3 )
Ayush is willing to go any wl.lcre except W ¥ % s & o
North Eastern States. Harbhajan prefers Gnﬁg & Y
not to go to Goa and Kerala. Hina wants to ffﬂ FEHA ©1 TISH TSN SR S
go either to Goa or Odisha. Geoge does S TES TR FE B R W d ven s
not mind as long as it is not Rajasthan. Tﬂ'ﬁ?ﬁ g IS WS TUSTEAM &) Eﬂw
Which destination would be acceptable to FE o TN & fau gemg B -1 Tasy
- | A B ) iR g
y"a A
7 Odisha
2
3. Kerala ; 3?“‘"
4. Madhya Pradesh ’
4. T yRy
' 2- ' : . *
i { i
. -
x17eT T ._P.br..- PRI X
la—d" ,  feR
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